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1. According to 2001 census, Indian population was:

a) 684 millions b) 844 millions c) 1027 millions d) 1128 millions

2. Chancroid is a sexually transmitted disease caused by:

a) 𝑇𝑟𝑒𝑝𝑜𝑛𝑒𝑚𝑎 b) 𝐻𝑎𝑒𝑚𝑜𝑝ℎ𝑖𝑙𝑢𝑠 c) 𝑁𝑙𝑖𝑠𝑠𝑒𝑖𝑟𝑖𝑎 d) 𝐶ℎ𝑙𝑎𝑚𝑦𝑑𝑖𝑎
3. STDs are also called

a) VD b) RTI c) Both (a) and (b) d) None of these

4. Which of the following given statements are not correct?

I. MTP was legalized in 1971

II. Inability to conceive or produce children even after two years of unprotected sexual cohabitation is 

called infertility

III. Surgical method of contraception prevents gamete formation

IV. MTPs are relatively safe up to 20 weeks of pregnancy

a) I and III b) III and IV c) III and II d) I and II

5. Population explosion occurs due to

a) Decline maternal mortality rate

b) Decline rate of infant mortality

c) Better medical service

d) All of the above

6. Zero growth means:

a) Natality is zero b) Natality balances mortality

c) Natality is less than mortality d) Natality is more than mortality

7. Population of India was approximately …… million at the time of independence

a) 350 million b) 400 million c) 500 million d) 600 million

8. MTP helps in

a) Unwanted pregnancy b) Unsafe sex

c) Failure of contraceptive d) All of the above
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9. Which of the following causes abortion in ladies?

a) Viruses b) Bacteria c) Mycoplasma d) None of these

10. Periodic abstinence is avoiding sex during

a) Luteal phase b) Ovulatory phase c) Menstrual phase d) None of these

11.  A method of birth control is:

a) GIFT b) ZIFT c) IVF-ET d) IUDs

12. July 11 is observed as:

a) World population day b) No tobacco day

c) World environment day d) World health day

13. Early symptoms of most STDs is

I. Itching

II. Fluid discharge

III. Slight pain

IV. Swelling

Choose the correct option

a) I, II and IV b) I, III and II c) I, IV and III d) I, II, III and IV

14. During which phase of the pregnancy MTP is safe?

a) 1st trimester b) 2nd trimester c) 3rd  trimester d) 4th trimester

15. Human population growth is:

a) Lag b) Stationary c) Exponential d) None of these

16. In which condition of the uterus, fertilisation is impossible?

a) 𝐴 and 𝐵 b) 𝐵 and 𝐶 c) 𝐶 and 𝐷 d)
𝐴 and 𝐷

17. According to the …A… census report, the population growth rate was still around …B…, a rate at which our 

population could double in …a… years.

Choose the correct option for A, B and C to complete the given NCERT statement

a) A-2003; B-1.8%; C-20 years b) A-2001; B-1.5%; C-33 years
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c) A-2004; B-2%; C-34 years d) A-2010; B-3%; C-22 years

18. In male sterilization …A… is cut and tied. This process is called ….B… .

Fill correct option for A and B

a) A-vas deferens; B-tubectomy b) A-vas deferens; B-vasectomy

c) A-vas efferentia; B-tubectomy d) A-vas efferentia; B-vasectomy

19. Day of periodic abstinence is

a) 10-11 days of menstrual phase

b) 10-17 days of menstrual phase

c) 17-20 days of menstrual phase

d) 20-28 days of menstrual phase

20. One of the legal methods of birth control is:

a) By abstaining from coitus from day 10 to 17 of the menstrual cycle

b) By having coitus at the time of day break

c) By a premature ejaculation during coitus

d) Absorption by taking an approximate medicine
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